


















Tabla #1
x      y      s1     s2     s3          b          
2      3      1      0      0            6      
6      4      0      1      0            12 
-2     2      0      0      1            2      

4     6     0      0      0            0      

Tabla #2
x      y      s1     s2     s3           b       
5      0      1      0      -3/2         3      
10     0      0      1      -2           8      
-1     1      0      0      1/2          1  
    
10    0      0      0      -3            6      

Tabla #3
x      y      s1     s2     s3             b     
1      0      1/5    0      -3/10      3/5=x   
0      0      -2     1      1              2      
0      1      1/5    0      1/5          8/5=y  

0      0      -2      0      0            12  

solución múltiple  

http://www.zweigmedia.com/RealWorld/simplex.html



Tabla #1

x      y      z      s1     s2           b       
1      1      0      1      0            1      
-1     2      1      0      1            2      

2     1     -1      0      0            0      

Tabla #2
x      y      z      s1     s2            b      
1      1      0      1      0            1=x      
0      3      1      1      1            3    
  
0     -1     -1     -2      0           2  

Tabla #1

x      y      z      s1     s2     s3     a      b       
3      5      4      1      0      0      0      30     
3      2      0      0      1      0      0      4      
1      2      0      0      0      -1     1      8  
    
7    10     4       0      0      0      -M           

Tabla #2
x         y      z      s1     s2     s3     a             
-4.5    0      4      1      -2.5   0       0      20     
1.5     1      0      0      0.5    0       0      2      
-2       0      0      0      -1     -1       1      4  
    
-8-2M 0      4     0      -5-M  -M      0    20-4M 

http://www.zweigmedia.com/RealWorld/simplex.html





Tableau #1
x      y      z      s1     s2     s3          b       
1      -2     1      1      0      0            1      
2      1      1      0      1      0            1      
1      1      -2     0      0      1           1 
     
-1      -1      1     0      0      0           0      

Tableau #2
x      y      z      s1     s2     s3           b       
-1     -3     0      1      -1     0            0      
2      1      1      0      1      0            1      
5      3      0      0      2      1            3 
     
-3    -2      0      0     -1     0            1    

Optimal Solution: f = 1; x = 0, y = 0, z = 1











Ej 11: Maximizar f=20x-2y+4z 
sujeto a: 2x+4y+8z<=32, 2x+2y<=16, 
y-x-2z>=6

Tabla #1
x         y        z      s1     s2     s3   a     b          
2        4        8      1      0        0     0    32=s1     
2        2        0      0      1        0     0    16=s2     
-1       1        -2     0      0      -1      1     6=a  
   
20-M  -2+M  4     0      -M      0     0     -6M      

...hacer los pasos intermedios...

Tabla óptima
x      y      z      s1     s2     s3     a     b       
0      0      10     1      -3/2   1      ?     2=s1      
1      0      1      0      1/4    1/2    ?     1=x      
0      1      -1     0      1/4    -1/2   ?     7=y  
    
0      0      -18     0     -9/2   -11    ?      6   

Solución óptima: f = 6; x = 1, y = 7, z = 0

Ej 12:      Maximizar f=3x+4y-z 
  sujeto a: x+y+z>=4, x+y-2z<=5,x+2y+5z<=9

Tableau #1
x         y        z        s1     s2     s3    a      b       
1        1        1        -1     0      0     1      4=a      
1        1        -2       0      1      0     0      5=s2     
1        2        5         0      0      1     0      9=s3 
     
3+M  4+M  -1+M   -M      0      0     0      -9M     

... hacer los pasos intermedios...

Tabla óptima:
x      y      z      s1     s2     s3    a      b       
1      0      -9     0      2      -1      ?    1=x      
0      0      -3     1      1      0       ?    1=s1      
0      1      7      0      -1     1       ?    4=y  
    
0      0      -2      0     -2     -1      ?     19    

Solución óptima: f = 19; x = 1, y = 4, z = 0



Ej 13: Maximize f=3x+4y+2z 
subject to 2x+2y+z<=8, 4x+y+2z<=6,
x+4y+6z<=20

Tableau #1
x      y      z      s1     s2     s3          b       
2      2      1      1      0      0           8      
4      1      2      0      1      0           6      
1      4      6      0      0      1           20  
   
3      4      2      0      0      0           0      

Tableau #2
x      y      z      s1     s2     s3          b       
1      1      1/2    1/2    0      0           4      
3      0      3/2    -1/2   1      0           2      
-3     0      4      -2       0      1           4  
    
-1     0      0      -2       0      0          16  

Optimal Solution: f = 16; x = 0, y = 4, z = 0

Ej 15: Maximize f=2x+3y+5z 
subject to x+2y+z<=20, 2y+z<=12, 
x+2y+2z<=35

Tableau #1
x      y      z      s1     s2     s3          b      
1      2      1      1      0      0          20     
0      2      1      0      1      0          12     
1      2      2      0      0      1          35 
    
2      3      5      0      0      0          0      

Tableau #2
x      y      z      s1     s2     s3         b       
1      0      0      1      -1     0          8      
0      2      1      0      1      0          12     
1      -2     0      0      -2     1          11 
    
2     -7      0      0      -5      0         60     

Tableau #3
x      y      z      s1     s2     s3         b       
1      0      0      1      -1     0          8=x      
0      2      1      0      1      0          12=z     
0      -2     0      -1     -1     1          3=s3  
    
0      -7      0     -2     -3     0          76 

Optimal Solution: f = 76; x = 8, y = 0, z = 12   




